MIES ST, A, HAIHE] LIAL X

oy

= HY/HE ololx|

7lE0l get zeie:

- MIEj@ ST o| 9Ix|8 WHD LM AUBE ?@ ool nFsHHAIR
- Sllx| el HUBol £ DYHoR HS YL

5 (EE BO{ U2ls 388 BUch
OABNK® o & el 8t
SN @435 2212 sigol 912 83lols
® ® 28 Mxighich.

..( : ) ’< » u’(%:\?»
= =7
auy sirl s suzy us auza
[
SHY 2y S0l 3WI} 7 welol AL,
Hetst gt Fetc @

s =l
liwa Fxlg N%SM %XIU ’éﬁ'eil\li
BUY e HEF IYZ2 o|FofFLIC

EX|ME Fxl

EER PN

© HEINRICH KIPP WERK GmbH & Co. KG

s} Ed A

Pl zteig of MEIYT STl FHs B
Z/290| s 8LCH
T

www.kipp.com - info@kipp.com 1/2



[
Salz LS s o
ME{E SH=, 2, HAIMH2| LA} =& EFR A
L1
T
I
i ey
| .
~
! .
T
-_—
\
E= 29
FEHS Bt D=L}AL D D H H1 L SW SHEH =AU EF
min. max. max. kN Nm
K1166.10804 A M4x12 8 10,3 5,5 0,9 7,3 2,5 0,9 2,1
K1166.11005 A M5X15 10 12,3 6,4 1,1 9,1 3 1,5 43
K1166.11206 A M6X18 12 16,3 8,6 1,3 11,2 4 21 7,3
K1166.11608 A M8X25 16 22 11,5 1,6 16,2 5 4 18

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



